Year 2 Compare Money

Today we are going to be
comparing money amounts
using the symbols <> and =
You have used these before
and were amazing, so | think

you Will enjoy these tasks. |
can't wait to see your work,
so send lots of photos to me
at our class e-mail address.
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Use <, > or = to compare. ——

9+6+1 ()5+3+5 EEEEE
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Subtract I from 39 I|| .

Complete the number track.
50 | 60 80

Today is Monday, so tomorrow is
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Count in 10s from the
numbers circled.

Countin 1s from the
numbers starred.



Money

Cowns and notes used to pay for items.
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Currency

Is a system of money used in a country,
The UK uses a currency of pounds and pence whilst the

‘ U.S uses a currency of dollars and cents. ‘

Pence
Pence is used in the UK. 100 pence equals one pound.

The letter p is used to represent pence.

,9000.
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S 10p 2p 50p

Five pounds

£

Pounds

The symbols used for pound is £.
We use pounds in the UK.
There are 100 pence in a pound.
£
One pound

A decimal point is a small dot to separate the whole

Decimal Point

number from the fractional part

£256
2 whole pounds ¢ e A practonipent of & whole pound
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Convert
Convert means to change.
You can covert pence into pounds and pence and
convert pounds and pence into pence.

100p & comverted 10 £1 £ & converted 10 100p

50p

Silver Coins
Coins that are silver.
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Copper Coins

Coins that are copper.
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Comparison Symbols

We can use these symbols to tell us if a number is greater than
or less than another number.

< =

less than equal greater than

°
e o 8>

3 is greater than 1

0 < o
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11s less than 3

2is equal to 2




What's the same?2 What's different?e

-
s
&

\
&£ P
\_ /

Explain your answer.
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What's the same?2 What's different?e

Explain your answer.

The amount in each box is the same and they both
share the same amount of pence. They are different
as the pounds, although the same total, are made
up of different coins and notes — one £10 note and
two £1 coins and two £5 notes and a £2 caoin.



Circle the box with the greatest amount.




Circle the box with the greatest amount.

™ | N/ N .

. ® | o ©
0 & w B
N / /AN ® :

Did you remember that notes are always worth more than coinse Did that
help you work out the greatest amounte



Circle the box with the smallest amount.




Circle the box with the smallest amount.
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Did you remember that notes are always worth more than coinse Did that
help you work out the least amount?



Independent Practice

Create your own Circle the box questions.

Template:

TN Y




Think back to last term when
we learned how to compare
numbers using <> and =. We
are going to apply our
learning today to use these
symbols to help us compare
money amounts. Use the
chart on the right to remind
you what the symbols look
ike and what they mean.
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Guided Practice

How can we compare these amountse

What do we need to do?



Guided Practice

We need to work out the amounts by counting the coins. Remember
to start with the coin with the biggest value.




Guided Practice

S5p




Guided Practice

Now we know how much money Is in each box we can
work out which amount is the greatest. We can then use
the correct symbol to compare them.

Should we

use < > 0or
=7




Guided Practice

55p Is greater than 44p

The correct symbol is the ‘greater than’ symbol.



Guided Practice

O IS than




Guided Practice

37p islessthan 44 p .

370

The correct symbol is the ‘less than’ symbol.



Guided Practice

pounds IS than




Guided Practice

£15 pounds is less than £16 pounds.




Guided Practice

This 1s a little trickier. Which part of the money is different, pounds or
pencee




Guided Practice

There are £15 in each box but one box has 50p and the other has 40p

£15 and 50p

£15 and 50p is ‘greater than’ £15 and 40p



Guided Practice

Which is greater¢ How do you know?

4 N

forty six pounds. 46p.
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Hint: Look carefully at the amounts and think about what you know
About pounds and pence.




Answer

forty six pounds. 46p.
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Pounds are always greater than pence. There are 100 pence in every
pound.




Use the comparison symbols (<, > or =) to complete the

statements below.
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The answers are on
page 33.




Y YY Y Independent Task
09099

R Jior Qi The answers are on
pages 34.

2 Who has the most and who has the lea

How do you know? "\’e

3 True or false?

[ 3 copper coins are worth more than 1 silver coin. ] M ath S




Finding things a little tricky?

) greater than
e,  0OO® If you feel a little unsure,

have a go at these

JOROSR than ) questions. They will help
less than | develop your

oroter than @@@ confidence.

The answers are on
page 33.
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1 Kat has three coins. Jack has one coin.

I have more than Kat because
I have a 50 pence coin.

Jack

Exira Challenge

Is Jack correct? Explain why.

If you want to do a little
more work, have a go
2 Always, sometimes, never? at these extra

Five of the same copper coins will equal 1 silver coin. challe Nges.

Remember these
challenges are optional
so only do them if you

3 Three 20p coins are worth the same as six 10p coins. WG n_l_ _I_O
Q99
Do you agree? Explain why The answers are on

page 33.




Exit task — Dong Nao Jin

What coin is under the splat to make this correcte




Answer

What coin is under the splat to make this correcte
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1 Compare the amounts by circling greater than or less than.
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Use <, > or = to compare the amounts.
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Kat has three coins. Jack has one coin.

I have more than Kat because
I have a 50 pence coin.

Jack
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Who has the most and who has the least?
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Jack Kat

Is Jack correct? Explain why.

It would depend on what coins Kat has.

Children will explore and show examples.

e.g. 20p, 20p, 20p > 50p OR 20p, 20p, 5p < 50p.

How do you know?

Kat has the most and Jack has the least.

Always, sometimes, never?

Five of the same copper coins will equal 1 silver coin.

Kat's amount is in pounds whereas Jack's amount is in pence.

£64 is worth more than 64p.

Sometimes.

5x1p=5pcoin. 5x2p=10p coin.

But not when 5 x 2p = 2 x 5p coins.

True or false?

[Scppcrnohsmwuﬁmdmhlmah. ]

Only true when the silver coin is a 5p.

Three 20p coins are worth the same as six 10p coins.

e.g. 2p, 2p, 2p is more than 5p but not more than 10p.

Do you agree? Explain why.

Yes.

Children can explore different true or false answers.

They are equal to each other.

They both make 60p.




fFlasthvbalek U

1) Use <, > or = to compare.
9+6+1 &) 5+3+5

2) Subtract Il from 39 28 || '

3)  Complete the number track.
S50 |60 (70 |80 |90 |00
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Today is Monday, so tomorrow is _ uesday




